Reasoning Ability

Direction 1-5-In each of the following questions, find

() Reluctant : Persuasion
(@) Contemplative: Meditative
(@) Noneof these

Temperature

word.
(a) NECTAR () CARPET,
(© PAINTER (@) REPENT
© Noneof these
e
REA( () CHAR
(c) CHEER (d) SEARCH
© Noneof these
3. CONSOLIDA'
(@) LENTIL ®) SLAN
() CONDOLE  (d) DETAIL
© Noneof these
4. UNIFORMITY
@ TINY ) TORN
© RENT @ FORM
(@ Noneof these
5. KALEIDOSCOPE
(@) SCALE ® PADLOCK
© PACKET (@ DIESEL

Direction- 6 to 10. Choose the correct optior o e
given cholces. You have to find out the pair that has th

Fish: Merm; 3

@ Cot-tion” (®) Horse: Centaur
(©) Unicom: Tapestry(d) Pegasus: Fly
(© Noneof these

7. Kamnataka: Bangalore

8. Loath: Coercion
(@) Trate: Antagonism
) Irritate: Caressing

&

(@) Length: Breadth

() Millimetre: Scale

(© Cardiograph: Heartrate
(@) Solar Energy:Sun

() Noneof these
Todine:: Goitre
() Insulin: Diabetes
) Mango
(© Hormones: Haemophilia
() Fat: Obesity
@) Nnnenn.hc:e
. If in a certain language, MADRAS is written as.
NHESB’I' ‘how is BOMBAY coded in that code?
(@) CPNCBX
© crocez (@ CQOCBZ
(e) Noneof these
In o certain language TRIPPLE is written a5
E: t code?
@ CHR("NRD M DSOESPI
© ESJTPTF (d) ESOPSID

: u...amhrw,comn..wdmumxc

and MARGIN is writ

MOULDING be writien i hataaier "™ "1
(@ CHMFNTK (1) LNI(TCHMF

(© LNTKCHMF  (4) NITKHCME

(@ Noneof these

Ina certain code, MOY w
R .
@ QDFHS ®) SDFHS

(© sHFDQ @ UpHFS

(©) Noneof these
Pmnhnglnanunnnﬂulhge,llihmd “H
brother ofthe daughter of the wife o n :u“l
Howisthe man on the stage related o iy
(@ Son ® Husband

(© Cousin (@ Nephew
(@) Brother-in-aw



16. Showing the man receiving the price, Saroj said, 25 A, CES,T.H
“Heis the brother of my uncle’s daughter.” Who s 123456

- @ 614532 6261453

© 435612 @ 632145

¥
o
d
e
m
z
2

@ 132546  © 132645
© 635142 @631542
(@ Noneof these.

18, Find outthe wrong term in the given Number Series. 12.34,56
1-24,27,31,33,36 = @ 162435 ®) 2.3,5,4,6,1
@ 24 w2 © 462531 @ 652314
© 3 @ 33 (©Noneof these -
(© Noneofthese 2 GANLME
19. 196, 169, 144,121, 80 1,2,3,4,56
@ 80 ® 121 @ 123456 ® 634152
© 169 @ 19 © 521436 @ 251436
(e) Noneof these (e) Noneof these
0 3579113 29. How many such pairs ofettesar there in the word
e s STAINLESS each of which has as many letters
(s A ctween them inthe word a they have inthe English
ok - alphabet,in the same sequence?
(e) Noneof these @ Two (b) Three
Direction-Qs 21-23.Find the alphabet in place o (1. @© Four @ Five
A (¢) Noneof these
® ML 30 Whatwill come in place of the question mark (2 i
@ LM the following sequence? ARRANGEMENTS,
(GEMENT, RANGEMEN, 7, NGEM

| (© Noneofthese:
@H 31, Fourofthe followingfive are alike in a certain way
None of these: and so form a group. Which is the one that does not
belong o that group?
) K (@) Baking (b) Steaming
@N (9 Cooking (@) Frying,
(@ Noneofthese . p ) ey
o -
(@ Radish ® Orange
accordingly, forma meaningful word. (©) Pear (d) Mango
i (@) Apple

Direction-Qs 3-40.Selecta sutable fgure from the four

® 42531 matt fnone o
“@ a4 ‘the choices is correct mark your answer as E” ie. “None of




52 53 69
S 7 Q)

(©)[[[x]

@ ® © ®

; 37
complete the Figure Matrix. complete the Figure Matrix.
Sl @] o E=E
» @ © O \ ® © O
O 72 @
(@) A @ A ®) B
5 5% ©c @b
(© Noneofthese © Noneofthese
i 38, Selecta figure from the fouralternatives that would
complete the Figure Matrix.
A AAEIHOO x |4 || DX %[>
@ ® © D a B) © o
mmE *|+ 7
LA, ® B @A ® B
A @D ©c @D
(©) Noneof these (@) Noneof these
: 3.
complete the Figure Matrix. complete the Figure Matrix.
L 0] DESE] EEleNe
® ® © O @ ® © o
I 1=l
et © B @A ® B
@c @D @ C @D
(¢) Noneof these (e) None of these View Answer (-)
: - .
complete the Figure Matrix. complete the Figure Matrix.

LN
tedmi]

@ ® (© ®

@A © B
©.c @D
© Noneof these



(d) A purse containing the address toher new school
(@ Noneof these

—Eﬂg]lsll Language 43, Inwhat manner did the realtor help in making the
s 3 little girl’s dream come true?
Andmlmw the questions given below it @ o lrel £

ing e il stood near a small school from

which ,m had been tumed away because it tas 100

) By building the school himself
© Bygivingaway aw:yh\d‘mbuﬂdmsmesd\m\nla

wal\u‘i oy Seeing her muhy unkempt appearance, the

(@) By publishing the gir'sstory in the newspaper

‘the hand, took
Ferinsde and found a place o the school class. The (@) Noneof these
. “
““\Iﬂ\'ﬁfo allowed ntoschool?
- -

T catefor the

(@) The g
&) She was poor and inappropriately dressed

e the final

©
@) The sehool was full of good students and did not

e O ave been rusnmaged from some trash ump:

(@ Theother kids in the school did ot like her

rndweriing wHICh read, “This is to help make the e 45,
school bigger
For woryears she had saved forthis ffering of love. @ The Girl With the 57 Cents
bty o g olgEebool
this note and the cracked, red pocketbook to XU REA SRR _
stage, he old the story of her unselfish love and devotion. (d) How Newspapers spread Information
He challnged i et fanis o g busy and e encugh (© A Priest and His Religion
\oney for thelarger building. oy s sl
Anewspaper lemedof hes 46 Which of the following characerlstics can be
was read by a realtor W parel of land
e thousands, When told that kel oty () Shewasbrave.  (B) She was selfish
ot pay so much. He offered it for a 57 cent payment. s was kw ing.
Religious members too made large subscriptions. (@ Onl () Only (A)and (©)
e © All (A) (m and (€) (@) Only(©)
il it bad ncreaed szzum a huge sum for that (© Only (B)and (€)
time. Her h dividends. The school
e Hesraciioh ovead paid gl i 4. Which o the ollewing cannot be said about the
amavillever ‘eed to be leftoutside at school time.
I one of the rooms of this building may be seen the ) el
i O the sweet ace o the e g whost 7ents S0 (B) He puthis lhuu;{hh into action
©
T b o L e e
(4 gt b e o g tenement i‘e; g ‘(:’)M Oty M),
i SR 45, What was the b gir’s idea behind wanting to
() she fell from a poor tenement building ‘build a bigger school
(@) Notmentioned in the passage (a) The current school was not providing quality
(© Noneof these. education
ey etidol

) Ap

schibdl

©

O matetothe pries thanking i forhis kindness

(@) Noeof these:



9. How w:

little gi e
(n)HenhnndhzrmryaMmgedepu!mnk

mark e)as the ansiver.
56, As Anuj was familar it the road to Neeraf's

(b) He constructed the school building
(Q Hehanded over the 57 cents o the realtor himself

®) ledaway
@ lead ways

@) lettheway
(@ leading ways
© i

il e eopagr o e e g . g et o pinngShasd
Pl
50. wh.lwumhmlmmufmnm-vedwy K i gord ® gives his go
the little girl?. © gaveitago (d) givingit goes
(@) The 57 cents © i
his service o thelittle girl 56, The performance of the band on New Year's Eve
(b)anhn\gw\lh‘lbedmwlmqunh-sﬂu Mnsiout efseride:
@ outof theworldly (%) outing of worlds
Ah poor @
(d) The 57 cents increased to a sum of $2,50,000 and (©) Nocorrection required
was donated to charit 59. Parenits are changing with the times and are friendlier
(€) The amount grew manifold due to various Mmmmh"‘“"(:)‘“"""‘m
finally build (:) changing times (@) change with ime
oo h s B .,.,.;,,.
51 WORTH ool o
switched wi
() Costing R I:: :w:kh‘ in (b) switches at
(© Significance (&) Appeal oo géiimfiinpinipan
© Merit & oottt
52. TOUCHED Dizkond (6103 questions below, a sentence
(9); Patted ®) tapped it four words printd i Dald 27, is given. These are
13 z:‘llled (@) moved in bold may be cither wrongly sptlta/nuwrvpmte in the
53. UNKEMPT
ety 'y i rimd 1 M 5 o Y
o e in the cone. A
@um bl Tpropriat n e contxt o th entence, Mar e i Al
= 61. Beside (a)/ the duties of compassion (b)/
in meaning to t ikong rgiveness there are still
54, BEFRIENDED b & e Gl flans e
by . There was once a Brahmana
m) s ©) killed (a)/ that he would only eat food that h:nnmld ®)/
s @ mistrusted whu(cvmugn.m (@)/ All correet (e)
55, KIND . ,:ym(n)/-edumm
. Bt (z)/unm
I:: "m-llue © hearless . ""'“'"‘ (@ manpowet Allcoms
carcless @) o - heKing aveaway (1 all
20 o ?L; family (b w mtfodh:ohd s ey mighs
I muonuss 60): Which ofthe phrases (a) (), m i e h""‘g‘f“"‘\“m( (©)
bt s - ©/ ol momatter 1)/ whether

(d)/ Al correct




(A), (B), (C), (D), (E) and (F) in the proper sequence to form &
then. -

® m.mm‘n—v-dm«uumr

© Mmmulmwlly crooked
Somewhat

who
were constantly teasing, made it clear to me how |
‘mustlook to others.

66. Which of the following should be the FIRST
sentence after rearrangement?

@ A ®) B
©C @D s
@ E

67. whlcnolmhunwl-.-i-uhﬁ-

fter rearrangement? *1

(-)A Loy Wi,
@c @ D -
©F 2

the.

punctuation, famy.)

71 As the minister was (a)/ very intelligent and
)/ the

appointed him (c/ ashis
chief advisor. (d)/ Noerror (e)
S il betes ey (.;/ R socu

commentary on (b)/ con

e 7 dowhat ety 3/ Noerror

e R T atie

quick witty as (b)/ hel justthe right topic

g o R e )

Thesupersaeevel hat (1) hehad ben 0 uning )
‘measures into )/ a public

l!hhm-oppomnuly ()/ Noerror (e)

- Anld iger lving i o)/ the forest was ot strong
enough (b)/ to hung animals and staryed lt)/ for
muchdays. d)/ No error (¢)

Directions (76- 80) : In the following passage there are

blanks, each of which has been numbered. These numbers are

rined below the pasase and aginst ac, fo words re
e of hich s the Nk spprprisely.Find ot e
appropriste word in cac
yamduumm id dokey. He did not give
it (76) food. The donkey be(nme AR (77 The
wwasherman had a wife and sev e said,

‘woeking hard. But | am ot 7o) alot v sy

sy wide and children (79). How can | feed this donkey ?”

he remembered a tiger skin in the house. It

s a it o his father's good word. He thought, 1 shal

i iy st ke e the g ki and
all. We

e "
e, Mt

i your village or in any place near your villagers.” That

10 find out whether
thereis any grammatical eror or idiomatic rror i . The rror,
fany, will b in one part of the sentence. The mumsber of that part

field. The washerman'’s donkey lifter up his head and
braved too. i

% @ any ® wo
© many @ with
© the

77. (@) somy ®) died

- 72 e,
© weak



78. (@) accumulate ) spend @ 50 ®)56
(© wasting 2 (d) caming © @t
(e) watching (© Noneof these
7. (a) good () main 7. io between the present ages of P and Q is
(© wel @ two 67.16Qis 4 years old than P. What will be the ratio
(@ small of the ages of P and Q after 4 years?.
80. (@) sew (®) wrapped @ 6:7 ® 7:8
() enclose @ stuck © 8:9 (d) Datainadequate
(@) cover (@) None of these:
88, The Average age of a class of 2 students is 21
(—’Dﬂ‘“‘“ The aversge increased by 1 when the teacher's age
81 The Prices of a scooter and a T-V are i the ratio 75. @ 41 © 2
Ifthe scooter costs Rs. 5000 more than a T.V set, then © @45
the price of a T.V set () None of these
(@) Rs. 23,000 ®) Rs. 25,000 89. years ago, Kumar was thrice as old as Selva
© Rs.700 (@ Rs. 45000 was but 10 years hence, he will be only twice asold.
(© Rs. 1500 Find Kumar's present age?
82. Zincand copper are melted together in the ratio 9 @ 30 p7 oo
:11. What is the weight of melted mixture, if 28.5 © 34 () 36
kg of zinc has been consumed in it? (€) Noneof these
(@) 8kg ) 60kg 90. The total of the ages of Jayant, Prem and Saransh is
© sikg @ 70kg 55 yeas Ten yearago the tiooftheirages was2
© Noneof these 337 What is the present age
83 The compounded ratio of (2 (3), (6: 11) and (11:2) (e ®) 36
. © 37 @38
@ 12 ® 21 (e) Noneof these
©u2, @ 36121 91 Ifa:b=5:9andbic=4:7 finda:
(e) None of these (@) 2036:63 ®) 20:6336
8. m.mgmomb.,,,md..uwmu Hxcaznda @ 366320
dnwenlmdxuhﬁhq included (€) None of these
class teacher?
@ 10 ® 43
© 45 @ 47
(©) Noneof these

. The Average of marks obtained by 120 candidates
in a certain examination is 35. I the a
of passed candidatesis 39 and that of failed
e

vmup-udmmmmmnnz
@95 ®) 100
© 105 @ 110
(€ None of these.

6.

40,000, Rs. 80,000 and Rs. 1,20,000 respectively. At
lbemdoflheﬁmyenllmlltdnw?m o
whilat the cnd o i scond yew,C withdams
Rs. 50,000. In what ratio will the profit be shared at

6 results is 49 and that of Last 6 is 52, find the sixth
result?

(@) 234
© 321
(e None of these:

© 324
(@ 347



AB, Twice A's.

capital is equal to thrice B's capital and B's capital
is four times C's capital. Outof a total profit of Rs.
16,500t the end of the year, B’ share is:

(@) 2000 ©).4000, 30t
(© 5000 (@600, ot o
(6) Noncof these:
06, Whatis 186186 1595159~ zn-m-t "
(o) 3 790
70 . « 848
O e ime tactor of 0 x
7 (10)
@ 69 ®) 84
© 9 @94
@

ofthese
98, 16(6(d)* - 367 = 202, the value of = is:
(@) 140 ®) 142

(a) 4586970843 ®)
(c) 4691100843 (@
(©) None of these.
100. The sum of the digits of
e
o DiviiBiey 8 1
®) Divisi ;9 posc <
© both 6 and 9 v
@ D‘visnblemm\nby6ov9 el
(e) Noneof these 3 P
101, Whﬂelll value must #
ex 86325 is divisible by i
(l) 1 ® 2
© 3 @s
(e) None of these
102. - The smallest three-digit prime numberiss
(a) 104 ®)
() 107 (d) 100
() Noneof these
10, :vmzzl;nrmmllnmunnmmumayw
(a) 35718 (b) 537804
() 63810 (d) 3125736

(@) None of these

104, A manissandingon s ailway bridge which 180
mlong, He finds thata train crosses the bridge n20

105. Two trains are running at 40 km/hr and

brs ""W 27/9m
olegy 9m

the train?
(a) 36kmph () S4kmph’
(© 67kmph (@) 76kmph

(© Noneofthese
20 ke
respectively in the same direction. Fast train
completely passes aman sitting in the slower train
in5seconds. Whatis the length of the fast train?
() 8m
@ 202/7m

(). Noneof these
106. Find the 10th term of 58,11

2 18

@ 20
of terms in the series 16,1547
® 13
@15
these
205, In am AP the 10th term is 31 and 15th term is 46.
the series?

® 468
@ 711,13

@ 678 @ 8729
@ Noneo

0. Thegresest number which o divding 1657 and
2057 leaves remainders 6 and s respectively, i
@123 ® 127
© 235 @ 305
(@ Noneof these:

11 Which of the following has the most number of

® 101
@ 182



1s.

116,

7.

119,

1.

A

par wide has

the park and rest of the park has been used as a
Tawn. If the area of the lawn is 2109 sq. m, then
whatis the width of the road?

® 3m

(@) Datainadequate

@ Noneoi these

(a) Thomas Steitz (USA) & Ada Yonath Isracl)
(b) Barry Sharpless & William Knowles (USA)
(©) Robert Lefkowitz & Brian Kobilka (USA)
@ Pear Ap ETirick Mackionn U4)
(© None

Ans\ﬂ.ha (rnded Bt 100 Woestd Wodld

km/hr and 90 kmvhe, nnnmgu-mmumu
the slower

nbﬂmmmmﬁnﬂmcﬂmmsn
7,202

train to cross the faster train in seconds is:
(@ 48sec ®) 52sec

(© 8sec (@) 66 sec

(@) Noneof these

Two trains 140 m and 160 m long run at the speed
fo 60 K/hr and 40 km/hr respectively in opposite

@) India ) Sri Lanka
© England (@ WestIndies
(© New Zealand

Thekncnelankulhdn(wuhmﬁdlm
Committee (FIAO)

to spe-arhead
i W rate fintncial inclnson in
the Chairman

@ 7sec ©) 86sec (3 YHMalegam () Dipankar Gupta
(© 108 sec @ 11sec (© KRKamath  (d) KC Chakrabarty
St o (@ DKMittal
B e e o 125. Which of the following statements about the
@ 2 ® 0. European Union (EU) is not true?
© o2 @ o ‘m (a) The European Union(EU) is an economic and
(©) Noneof these political union of 27 member states with

the HL(OF.of . s, Bl
'-“““ “"'“""‘ s 37, bl "‘5‘“"'“"""’"“ (b) The EU won the 2012 Nobel Peace Prize for
@ 1 ® 107 fostering pea-ce on a continent ravaged by war.
© “‘ @ 185 (9) Croatia s set to become the 28th member state of
(@ Noneof these the EU on July1, 2013,

, @ ol

155 states ofthe EU.
@2 08 (@ Herman Van] (Beligi-um) is the President
©7 @s of the Eu-ropean Council and Jose Ma-nuel

(@) Noneofthese
Whatis 8756 x 99999 =7

(@) 796491244 (b) 875591244
(0 815491244 () 88324284
() None of these

An expert panel set up by the Prime Minister
recommended complte decontrl of the sugar
industry. Who! committee?

(@) Kaushik m..
(© Rangarajan
(@ Y.VReddy

() Bimal Jalan
(@ RSGujral

Barroso (Portugal) is the President of the
European Commission.

Which of the following books is/ are written by
Jhumpa Lahii, an Indian American author?
(@) The Namesake

(®) Unaccustomed Earth

(© Interpreter of Maladies

(@ Both1and2

(© AllL,2and3

Set-lhumd Board of India (SEBD gave
on to which of the following to start

perstions n ity and inJuly

022



A popular cricket, on All India Radio
for four decades passed away in July 2012. Name
him?

(@) Abid Hussain  (b) Suresh Saraiya

(© DamaSingh (@) PKRungta
(e) NKPSalve
136. Marcus Agiusrsigned sy 2012sthe Chaiman
of which of the following
(© Los Angeles () Barclays ® Hsuc
. The Cabinet Committee on Bﬂnmm: Affairs (©) DeutscheBank (d) BNP Paribas

©

sale of 10.52 percent of its stake in which of the 137, Arvin Boolell visited India recently. He is the
(@) Singapore (b) Guyana
(© Indonesia (@) Mauritius

(©) Trinidad & Tobago

(@) Kamataka
(© Punjab (@) Maharashtra
© Andhra

. Which of the following has been declared as the
e Yeur fox e RN Bce yeac
at the Skytrax World Airline Awards’

® (‘zﬁny?nﬁc

(HUB), if

© Rel5lakh
© Rs25lakh
Who replaced

Empowered Group.

allocation of telecom!

@ (AKAntony

© Pa

(© V-Narayanasamy
taken over asthe:

of Accounts (CGA)?

@
(© British Airways (4) Qantas

@ Airlines
. Tatenda Taibu quit ericket to devote his life to the

ts and 150
ODIs for which of the following countries?

@) England () Westindies
(©) Zimbabwe (d) South Africa
(@) Noneofthese

. Oracle Chief Executive Officer (CEO) has bought

98 percent of the Hawaiian Island of Lanai. Name
him?

(@) SteveBallmer  (b) Bill Gates

(© LanyPage () Larry Ellison

(@ Warren Buffet

‘William Jones Cup is an international tournams

 held annually since 1977 in Taipei, Taiwan. It is

‘associated with which of the following sports?

(@) Vinod Rai
(©) Sekhar Basu
(© None of these.

(@) Badminton (b) Lawn Tennis

(©) Basketball (d) Table Tennis

(&) Football
) ‘Stay Hus St
(@) Jawahar Thakur Foolish? L ac it



1

146,

7.

148,

149

(@) ArundhatiRoy  (b) Rashmi Bansal
(@) Anita Desai

When did Inia it pripatein he Olympis?
(@) 189 Athens

(©) 1904 StLouis
(©) 1912tockholm

(@ 1908 Londan

. Whois the

(© Peso

present Foreign Secretary of India?
(@) NirupamaRao ~ (b)  Ajit KumarSeth

(@) Ranjan Mathai. . (d) Shiv Shankar Menon
@ Shashikant Sharma

. Who among the following is associated with

archery?

Hindalco Industries, one of the world's I: st li i
i - g 17 (@) Mithali Raj (®) Sudha Singh
(@) Aditya BirlaGroup 13 it \

() Vedanta Resources

(©) TataGroup

@ Reliance

(©) Jindal Steeland Power

North and South Agalega islands located in the

() France © Japan

(« (@ Mauritius

(© Japan

"Sea of Poppies’ was short listed for the Man Booker
Prizein 2008. Who i the author?

(1) Aravind Adiga () AmitavGhosh

(©) Chetan Bhagat () Salman Rushdie

(@) None of these

The customers of banks can make a complaint to
which of the following offices on the issues related
1o deficiency in services, if the problems are not
resolved at banks' level?

(&) Indian Banks' A
© Amﬂ\ey&e«eﬂl
(@ Om
© Lﬂmplmllzrar\d AudﬂurGengul
Which of the following aws give

Madhya Pradesh y)vemmem et &
classical my
@ Aqnm
© Ch:.uml\Dwx]mn Award

(¢) Saraswati Samm
Theindexof the Nionai Stk Exchang (NSEVis
known as?

(@) Sensex (b) SCORES
(©Q MCX (@ CRIS
(© Nif

fty
ik Ll following s the currency of Bahrain?
() Taka

(a) Bal

© o (@ Rial

156.

157.

Which of the following piaces does not have a
nuclear power plant

(@) Tarapur ®) Narora

(© Kalpakkam  (d) Rawatbhatta
© Asansol

‘Which of the following terms is not asociated with
banking?

(@ NEFT ©) RTGS

© SLR (@ CRR

(@ ROP

World Blood Donor Day is observed on?
(@) June26 ) June 10

© Juy11 @ Junels

(© July18

Which of the ollowing organizations deals with
regulation of trade between the countries’

(a) WEF ®) IMF
() ADB @ m
(© WIO

Kane Wilamsan s aTet cricketer from which of
the following

@ A\nmln

(© England

(© New Zealand
Gangnam style dance is in the news recently. It
originated in?

(b) WestIndies
(d) South Africa

®) Brazil
(d) South Korea
(©) Trinidad &Tobago

Which of the following is the capital city of
Australia?

(@) Syaney ) Metbourne

(©) Adelaide (d) Brisbane

© Canberra



@ b) Mouse
(@ Joystick @ Trackball
(e) Noneof these
). Which of the following is not an.output device?
@ Plotter ) Printer -
(@) Touch Screen

Every componentof your computeris either
(@ software or CPUIRAM'
® n.\p..mummmnpmm

(© Noneofthese.

175. “DOS’floppy disk does not have—
(@) A Boot Record
®) AFile Allocation Table

(€) Ctrl+Shift+1 an external power supply
© Alt+Shifts1 (@) Directly from the computer’s power supply
‘Whic cable

device ..n..auuﬂﬁl-.

devicein » Graphical User Environment? (© Noneofthese.




178.

§

186.

2 Website.
(@) Cookies () Plugins
(c) Seripts (d) ASPs
(e) Noneof

A proxy server is used for the which of the
following?

(@) Toprovide security against unauthorized users
) L

@
() Noneofthese

. Office LANS, which are scattered geographically

on large scale, can be connected by the use of

pae
(©) Toprocess client requests for database access
(@ Toprovide TCP/IP

() Noneof these
Inthe portion labelled httpis the—

(@) host domain name
(@) protocol (d) top-level domain
(e) Noneofthe

ese
. The number of pixels displayed on a screen s
Known. reen—

() resolution
(© refresh rate
(© Noneof these

() colour depth
(@) viewing size

189.

@ CAN ® LAN
(c) DAN (d) WAN

(e) TAN

(@) Tatasteels () SAL

(¢) HINDALCO (d) Jindal steels

(@) English Auction ) Sesled_5id Auction
(©) GroupPricing (d) Noneof these
(© None of these

(@) Market-Skimming
(b) Discriminatory Pricing

® systemsoftwas

©
(@) Advertisement Pricing
(©) Noneofthese

(a) delete text
® move hec cursor in the text that has already been
tered

(© save the document

192, discount s offered by the seller to
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